
Substituce vs Per partes ;-)

(i)

∫ 0

−1
x3e−x dx

(ii)

∫
arcsinx dx

(iii)

∫
6x2
√

1 + x3 dx

(iv)

∫ 0

−4

(
x− |x+ 2|

)
dx

(v)

∫
(3x+ 1)e3x dx

(vi)

∫
x

sin2 x
dx

(viii)

∫
(x2 + 4x− 5) cosx dx

(vii)

∫ e

1

lnx

x2
dx

(ix)

∫ 1

−1
x dx,

∫ 1

−1
x2 dx

(x)

∫ π

0

x2 cosx dx

(xi)

∫ π

−π
sin3 x dx

(xii)

∫
lnx− 2

x
√

lnx
dx

(xiii)

∫
3x2

cos2(x3 + 1)
dx

(xiv)

∫ 0

−1

x

ex
dx

(xv)

∫ 1

0

√
22x dx

(xvi)

∫
ex

ex + 2
dx

(xvii)

∫
e
√
x

√
x

dx

(xviii)

∫ 1

0

dx

ex + e−x

(xix)

∫ √
x

x(x+ 1)
dx

(xx)

∫ 0

− 1
2

√
1 + x√
1− x2

dx

Výsledky: (C ∈ R ńıže je integračńı konstanta)

(i) 2e− 6; (ii) x arcsinx+
√

1− x2 + C, x ∈ (−1, 1); (iii)
4

3

√
(1 + x3)3 + C, x ∈ [−1,+∞);

(iv) − 12; (v) xe3x + C, x ∈ R; (vi) − x cotg x+ ln | sinx|+ C, x ∈ (kπ, (k + 1)π), k ∈ Z;

(vii)
e− 2

e
; (viii) (x2 + 4x− 7) sinx+ (2x+ 4) cosx+ C, x ∈ R; (ix) 0,

2

3
; (x) − 2π; (xi) 0;

(xii) 2
√

lnx

(
1

3
lnx− 2

)
+ C, x ∈ (1,+∞); (xiii) tg(x3 + 1) + C,

x ∈
(

3

√
−π

2
− 1 + kπ, 3

√
π

2
− 1 + kπ

)
, k ∈ Z; (xiv) − 1; (xv)

1

ln 2
; (xvi) ln(ex + 2) + C,

x ∈ R; (xvii) 2e
√
x + C, x ∈ (0,+∞); (xviii) arctg e− π

4
; (xix) 2 arctg

√
x+ C, x ∈ (0,+∞);

(xx) − 2 +
√
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